ELEMENTS EG:  INFORMATION MEMO #3 (9/28/09)


(A) Review Problem #2:  Tressel v. Rodriguez
(1) Hypothetical: The Case of the Wounded Wolverine


Although the law currently protects many animals from hunters, it does not shield the vicious wolverine.  De​scribed by the Encyclopedia Britannica as strong, fearless and voracious, this bad-tempered member of the weasel family is the bane of farmers and summer visitors to the Upper Peninsula of Michigan.  Not only does it eat eggs, fowl and other small animals, but it often breaks into summer cabins devouring provisions and leaving behind a distinctive, unpleasant odor.  The one silver lining of its relationship with the humans of the Upper Peninsula is that its fur is fairly valuable, so that if you manage to kill one, you get something for it.


Jeremy Tressel owns a small farm near the shore of Lake Huron on the Upper Peninsula.  His chickens repeatedly have been raided by wolverines.  Recently he put out some traps designed to catch wolverines by the legs if they prowled around the chicken house.  He anchored the traps to the ground by chaining them to buried bricks.  To insure that if the wolverines escaped, they would not bother him again, he smeared poison on the teeth of the traps.


Tressel’s neighbor, Linda Rodriguez, also is a farmer.  She doesn’t believe in killing animals unless absolutely necessary.  She has erected fences around the parts of her yard where she keeps her fowl and she keeps the yard well-lit even at night.  Her measures have been fairly successful keeping wolverines away from her chickens, although at least one has broken into her house, eaten some food and left a mess behind it.  Rodriguez finds her neighbor’s use of poison and traps inhumane.  Tressel thinks that she is crazy to spend money building fences when traps do the trick and eliminate the pests for the whole neighborhood.


One night earlier this summer, a wolverine got itself caught in one of Tressel’s traps.  However, it was strong enough to break the chain anchoring the trap to the ground.  The next morning, Rodriguez found it crawling slowly across an unfenced area of her property with its left rear leg still in the trap.  It occasionally stopped to gnaw at the bleeding leg. (Wolverines with a leg caught in a trap occasionally are able to free themselves by chewing off the limb in question.  Some of the animals that do this heal and survive for a significant amount of time afterward.)

  
Rodriguez tried to get close enough to remove the trap, but the animal snarled and snapped at her.  She decided to put it out of its misery and shot it once.  It died instantly.  Tressel had found the wolverine’s trail when he awoke. He followed the trail to Rodriguez’s yard, arriving just after she shot the animal.  He demanded the body, but she refused.  Later, Tressel filed suit demanding return of the wolverine carcass.  


Assume that Michigan has no caselaw directly on point and that the materials in Unit One constitute the available precedent. The case raises two legal questions: 

(Q1) First Possession: Did Tressel ever had sufficient possession of the wolverine to create a property right in the animal?

(Q2) Escape: Assuming Tressel acquired ownership at some point in time, did he lose his property rights when the animal “escaped” onto Rodriguez’s land? 
(2) Instructions 

(a) For this problem, working by yourself or with fellow students, you will make arguments about this hypothetical based on the materials in Unit One.  

(b) Review the hypothetical and the cases and materials from Unit I. Assume that the first possession cases represent the primary authority for Q1 and that the escape cases represent the primary authority for Q2.  

(c) Based on these materials and our class discussions, develop a list of the best arguments for each party for each of the two legal questions. When developing arguments for one party, try to anticipate points the other side might raise.  Then try to refute those points and to distinguish cases that might be used against that party.  The most difficult position to defend is Rodriguez for Q2; you should spend extra time trying to find creative arguments for this  position. 
(d) In formulating your list of arguments, please consider the following points: 

(i) You must assume that the facts as given are correct.  You may draw inferences from the record as long as they are not inconsistent with the given facts.  


(ii) Your arguments can be based on:



(A) comparisons to facts and holdings of relevant cases;



(B) application of particular language from the materials; and 



(C) application of relevant policy concerns.  

(iii) There is no necessary relationship between the number of arguments you create and the number of authorities you rely on.  In other words:


(A) You might derive more than one argument from any particular authority.

(B) You might find that some of the authorities we’ve studied are not relevant to your particular question.

(C) You might develop an argument that relies on more than one authority.

(iv) Try to explain as part of your discussion of a rule or principle how it applies in this case.  For example: 

Catching an animal in a trap gives ownership of the animal to the owner of the trap.  “Encompassing and se​curing  ... animals with nets and toils ... may justly be deemed to give possession of them to those persons who, by their industry and labour, have used such means of appre​hending them.”  Pierson.  Here, because Tressel owned the trap in which the wolverine was caught, the wolverine belongs to Tressel.
(e) If you want to write out your work, simply make a numbered list of arguments arranged in a logical fashion. You should not attempt at this point to try to tie the individual arguments into a single unified brief or essay.  

(f) When I give this as a written assignment, I tell the students that they will need at least four to six double-spaced pages to do a good job for each position for each question.
  (B) Information for Students Taking 
Elements EG Practice Midterm  

(1) FORMAT & COVERAGE

a.  The practice midterm will be a closed book one hour exam consisting of one question, a hypothetical similar in form to the wolverine hypothetical in Review Problem #2 above.  

b.  For the first twenty minutes, you may read the question and take notes on scrap paper and on the question itself.  You may not write in the bluebooks or type on your laptops during the first twenty minutes.  You then will have forty minutes to write your answer in the bluebooks or on your laptops. 

c.
For the exam, you are responsible for all the material in Unit One except Kesler, although I might not test on all of the material.

(2) SOME SUGGESTIONS SPECIFIC TO TAKING THIS EXAM

a.  During your 20 minute reading period: 

(i) read the question carefully more than once (you get little credit for writing a smart answer to a question I didn’t ask); and  

(ii) make a quick rough outline (a little bit of structure makes it much easier for me to see what you are arguing and to give you appropriate credit)   

b.   If you complete your answer before time is up, reread the questions and your answers to see if you can find additional arguments.  My experience is that people who finish my exam questions very early usually are missing some major arguments.

(3) PRE-EXAM QUESTIONS:  

a.  I will hold pre-exam office hours on Saturday, October 3, from 2:00-6:00 p.m.  As with my weekly office hours, no appointment is necessary; I will answer questions on a first-come first-served basis.  

b.  If you submit specific questions by e-mail by 6:00 p.m. on Saturday, I will get back to you by 10:00 a.m. on Sunday.  
c.  You might use the following as sample exam questions to practice with:  


i) The weasel hypothetical from Review Problem #1 (first possession)


ii) The squirrel hypothetical from Discussion Question 49 (escape)


iii) The wolverine hypothetical in Review Problem #2 (both)

d.  For a sense of what I look for in an exam answer, read the following section or watch the exam tips video accessible from the Academic Achievement website.
(C) Exam-Taking Tips

I.
KNOW YOUR TASK 


A.
Common Task on Undergraduate Exams:  Show What You Know


B.
Task Here:  Show You Can Address Problems Using What You Know

C.
Typical Exam Question Asks You to “Discuss” a Short Fact-Pattern


1.
Respond by “Issue-Spotting”:




a.
spot major topics you must address to resolve problem



b.
spot arguments lawyers might make about major topics

2.
Helpful to View Answer as Draft of Analysis Section of Memo


a.
Because it’s the analysis section:



i) no need to summarize facts at beginning



ii) no need to lay out question presented at beginning



iii) need to apply relevant rules/policies to facts



iv) need to include best arguments on both sides



v) helpful to try to determine what a court might do



vi) arguments should be based in legal authority


b.
Because it’s a draft:



i) no need to spend time polishing sentences



ii) no need for elaborate introduction/conclusion



iii) use abbreviations and short form citations

3.
Telling Us “What You Know” Is Not Responsive


a.
don’t write everything you know about major topics


b.
simply listing rules & holdings of cases insufficient


c.
discuss “law” in conjunction with either


i) a discussion of which rule should apply to the facts;  -OR- 


ii) applying the rule to the facts 

II.
RESPOND TO THE QUESTION ASKED


A.
Read Carefully


B.
Follow Any Directions Given



1.
If I say assume something is true, don’t argue.



2.
If I ask you to take on a particular role, do it.



3.
If I specify issues for you to discuss, do so.


C.
Discuss the facts you are given



1.
Assume all facts given are relevant



2.
Not helpful to discuss at length result if facts were different



3.
Discuss missing facts if necessary to respond to the question




a.
example:  torts question re Jim’s liability




i) problem says “Jim hit Ken with car.”





ii) need to know Jim’s intent to resolve question





iii) if Jim intended to kill Ken, then …; if not, …




b.
don’t discuss outside facts that alter nature of problem





i) if there had been a fire, it might have been arson …





ii) if the tenant was married to the landlord …

III.
USE YOUR TIME WISELY


A.
You Don’t Have Time to Say Every Possible Thing



1.
Always more arguments than you could write in allotted time



2.
You need to make choices about what to address


B.
Spend most time on hardest stuff:  what lawyers will argue about 



1.
Easy to resolve issues don’t show off your abilities.



2.
Focus on issues difficult to resolve from course materials




a.
shows that you see where case isn’t easy




b.
gives opportunity to use lots of tools 


C.
Time-Saving Tips 



1.
using abbreviations, especially names of parties (Fred ( F)



2.
use one word cites to cases (Jones, not Jones v. Hambletonian)



3.
use headings instead of topic sentences.  Compare:
a.  “The first issue here is personal jurisdiction.  The first question we need to 
ask is what contacts the defendant had with the jurisdiction.”
b.  Personal Jurisd.:  D’s Contacts:    



4.
develop a concise writing style



5.
prepare concise versions of frequently-used rules/policies



6.
avoid long introductions and conclusions

IV.
ORGANIZE YOUR ANSWER

A.
Before You Write:  Make A Quick Outline


1.
Take a little time to i.d. major issues you want to discuss

2.
Decide the order you’ll do them in

3.
Maybe estimate time you’ll spend on each

4.
Maybe jot down a few things you’ll discuss for each

5.
Do not spend 25 minutes outlining a 1 hour question.

B.
Possible Organizational Structures
1.
Chronology 

a.
Discuss first things that happened first
b.
Useful if several transactions in question
c.
Often true in Contracts & Property
2.
Elements of Cause of Action


a.
Discuss each element in turn


b.
Spend more time on contested ones



3.
Do issues with most to discuss first 


C.
While You Are Writing



1.
Don’t obsess about what to do first/next




a.
more important to keep writing than order of topics




b.
nobody expects you to find perfect structure on exam



2.
Make your structure visible to the reader




a.
indicate changes in topic with headings




b.
start new paragraph with each change in focus. 

3.
Do one thing at a time


a.
once you list a rule or policy, apply it immediately


b.
finish one topic before moving on to the next


c.
if you think of a point on a different topic:

i) jot it down on scrap paper

ii) return to it when you’ve finished current topic 

V.
PROVIDE ANALYSIS OF THE ISSUES YOU SEE


A.
Integrate Law and Facts



1.
danger signal: long stretches with either no rules or no facts 



2.
analysis of a topic requires both




a.
rule without facts doesn’t resolve problem




b.
facts need context of legal rules or not legal analysis 



3.
useful structure



a.
begin topic by stating applicable rule




b.
explain ways it might be applied to facts of problem




c.
useful transition between rule and facts:  “Here, …”



4.
if more than one possible rule:




a.
do analysis under first possibility




b.
do analysis under second possibility




c.
discuss arguments re which rule ought to apply


B.
Show All Work



1.
don’t simply lay out rules and conclusions



2.
lay out all steps in your reasoning



3.
prove to me that you are reasoning and not guessing


C.
Argue (at least) Two Sides



1.
No party ever is an easy winner in an exam question



2.
Look hard for serious arguments for both sides
3.
If you write a paragraph that only supports one party, force yourself to begin 
the next with “However, the other side will argue”
4.
Some types of counter-arguments

a.
different inferences from facts given

b.
different application of same law to facts

c.
different possible rules

d.
different application of policy arguments

e.
countervailing policy arguments


D.
Use Policy/Theory Arguments



1.
Purpose behind a rule can tell you how to interpret it



2.
Purpose behind a rule can tell you if it applies at all



3.
Policy/theory can help you choose between rules


E.
Work Through Issues That are Hard to Resolve from Materials



1.
Explain why you think issue is hard to resolve.  E.g., 




a.
Facts fall between case X and case Y




b.
Rule points to P winning, but that seems bad result




c.
Rule developed in very different context



2.
Lay out more than one possible approach to issue




a.
Don’t be afraid to be creative




b.
Identify strengths/weaknesses in possible approaches




c.
Use policy/theory to argue about best way to handle

VI.
GETTING THE MOST OUT OF THE PRACTICE MIDTERM


A.
Preparing for the Exam



1.
Try to Get a Good Grasp of Each Topic You Studied




a.
review notes




b.
reread parts you aren’t certain about




c.
outline some or all of course



2.
Practice working through hypotheticals




a.
Sources

i) old exam questions if available

ii) hypotheticals from casebook/course materials 

iii) hypotheticals from class




b.
ways to work with:

i) discuss with other students





ii) make list of possible arguments





iii) try to write out answer in exam format (best)



3.
If open book, prepare aids to help you during exam




a.
think through what would help you most.  Examples:




b.
checklists of topics to look for




c.
checklists of issues to discuss for particular topics




d.
charts that help you understand a topic




e.
lists of concisely worded versions of important rules


B.
Self-Evaluation (After Test, Before Receiving Feedback)



1.
Think About How You Prepared For Test




a.
What activities proved helpful?




b.
What activities were unhelpful or not good use of time?




c.
What could you do differently?



2.
Think About Experience of Sitting in Test (if open-book)



a.
Were the materials you had with you useful?




b.
What materials you didn’t have might have helped?
 

3.
Consider if there are ways you should alter your daily class preparation in 
light of your experience on the midterm


C.
Taking Advantage of Instructor Feedback



1.
Read/listen carefully to any feedback you get



2.
Ask questions about anything you are not sure of



3.
On your own time, take exams from the other three courses

SAMPLES: ONE GOOD PARAGRAPH AND SOME COMMON EXAM MISTAKES

Assume that the exam question is the squirrel hypothetical in Discussion Question 49 in your materials.  The excerpts below would be from a part of the answer dealing with the significance of markings.

Good Paragraph

Marking. Marked animals more likely to go to orig. owner (OO).  See Manning; Albers.  Here, squirrel (S) has markings that allow A to identify, so arguably helps A.  However, marks in Manning & Albers man-made (Tattoo; parted crest), so gave notice of OO to finder.  Bad to reward finder w knowledge, Albers. Here, B wouldn’t be able to know of A’s claim just from markings on S (assuming they’re natural; doesn’t say).  Mullett marks allowed OO to i.d., but still went to finder where marks gave no info about OO, so marks shouldn’t help here.  Treating natural marks as helping OO hurts innocent finders who invest in escaped animal (like cage here) only to lose it. To eliminate this externality (Demsetz), should encourage OO to do unnatural mark instead. Other purpose of marking is to reward labor (Pierson) by OO protecting prop. rts; no evidence of labor by A re marks, so shouldn’t help her.  Maybe purpose of marking just certainty of i.d. by OO (good since reduces burden on cts; maybe reduces quarrels.  Pierson).  If so, then helps A. Maybe comfort w/ humans is kind of mark?  Arguably provides knowledge of OO (somebody helped it relax w people) tho many S OK with people.  May depend on if nearby park or college where lots of S/human interaction.  Shows labor by A, but not aimed at protecting ppty rts, so maybe outside purpose of marking factor, better to consider under taming.

Weaker Paragraph #1:  Conclusory Answer (Very Weak)

(Rules and Conclusions Without Showing Steps in Reasoning)

Marking. Marked animals more likely to go to orig. owner (OO).  See Manning; Albers.  Here, wrong kind of mark, doesn’t meet purpose of rule, so doesn’t help A.

Weaker Paragraph #2: One-Sided Answer 

(No Sense of Arguments for One of the Parties)

Marking. Marked animals more likely to go to orig. owner (OO).  See Manning; Albers. However, marks in those cases man-made (Tattoo; parted crest), so gave notice of OO to finder.  Bad to reward finder w knowledge, Albers, but B wouldn’t be able to know of A’s claim just from markings on S.  Mullett marks allowed OO to i.d., but still went to finder where marks gave no info about OO, so marks shouldn’t help here.  Treating natural marks as helping OO hurts innocent finders who invest in escaped animal (like cage here) only to lose it. To eliminate this externality (Demsetz), should encourage OO to do unnatural mark instead. Other purpose of marking is to reward labor (Pierson) by OO protecting prop. rts; no evidence of labor by A re marks, so shouldn’t help her. 

Weaker Paragraph #3: Wordy Answer 

(Takes Fifteen Lines To Do What Good Answer Did in Five) 

The next factor courts consider when determining who gets possession of an escaped animal ferae naturae is whether the animal has been marked.  Marked animals are more likely to get returned to their original owners.  See Manning v. Mitcherson; E.A. Stephens & Co. v. Albers.  Here, the squirrel has markings that allow Amy to identify it as the animal she had been taking care of, so the marks arguably help Amy’s claim for return of the squirrel.  However, the marks in both the Manning case, which was the canary’s crest that Mrs. Mitcherson parted like it was hair and in the Albers case, which was a special tattoo used by fox breeders on the underside of the ears of the fox, were man-made, and  so they gave notice to anyone who found them that some other person had a prior property interest in the animals. An important policy, according to the opinion in Albers,  behind the element of markings is that we don’t want to give property rights to finders of escaped animals who had a good reason to know that somebody else already had a claim. Here, however, Brett could argue that the markings would not be sufficient to indicate to him that anyone had prior claims on the squirrel.   This argument assumes that marks look natural; the problem doesn’t say one way or the other so they could be man-made.
Weaker Paragraph #4:  Disorganized Answer 

(Jumps Around; Doesn’t Follow Through on Points Raised)

Marking. Marked animals more likely to go to orig. owner (OO).  See Manning; Albers.  Here, S has markings that allow A to identify, so arguably helps A. Mullett marks allowed OO to i.d., but still went to finder, but Mullett turned on natural liberty which might be present here depending on where S was loose, but marks didn’t let finder know of claim by OO since scars could be natural unlike tattoo in Albers.  Other policies here include bad to reward finder w knowledge, Albers, and reward labor, Pierson, but doesn’t seem to be much labor to reward with this mark which seems to be natural, unlike Pierson (rewarding catching foxes) or Albers (protect industry), although A did train S some, and fact that S responded to name also could be viewed as marking. Plus, to eliminate externalities to finder (Demsetz), should encourage OO to do unnatural mark instead, and A should have done better job preventing escape anyway. 

Weaker Paragraph #5:  Outline Dump 

(Rules and Descriptions of Cases Without Application to Facts)

Marking. Marked animals more likely to go to orig. owner (OO).  See Manning; Albers.  In Manning, OO parted canary’s crest in distinctive manner, maybe factor considered in awarding bird to OO (case isn’t clear which factors matter).  Marking in Manning served several purposes: helping OO identify the animal, which helps certainty of court proceedings, helping finder know of prior claim, and showing labor by owner, which we like to reward.  Pierson.  Organ grinder’s monkey cited in Manning shows court thought a well-marked animal goes to OO.  Albers returned a fox to OO where marked with tattoo that served same purposes as in Manning plus allowed finder to figure out who OO was.  Like Manning, not clear if this fact was crucial in Albers, but discussion of knowledge of defdt suggests important.  In Mullett, marks maybe helped OO to i.d., but animal still went to finder where marks were scars (could be acquired naturally; not sort of labor you want to reward).  Here, check to see if marks within purposes of the  rule.

(D) Instructions for Briefing Trial Court Decisions 

In Unit II, we will read five trial court decisions: the four whaling cases and White v. N.Y. State Nat’l Gas Corp.   Trial court decisions contain some elements like “findings of fact” not typically found in appellate decisions, but don’t include others (like the procedural portion of the issue and holding) that relate to reviewing how a lower court handled the case. Below, you will find a suggested briefing format for trial court decisions.  Each panel will be on call for the brief of one of these opinions; I will expect you to have prepared the brief in this format.  
Statement of the Case:  Include who is suing whom, for what, and on what theory, to the extent that the information is discoverable from the case.

Procedural Posture:  For all five of these cases, the posture is the same:  “Decision after a trial.”

Facts:  Keep in mind in this section that the facts may still be in dispute, so you may have to phrase parts of this in terms of allegations or testimony.
Factual Disputes:  Because these are trial court cases, the court may be asked to make findings of fact.  If that is the case, list the factual questions the court must decide under this heading.  E.g., “Was Moby Dick the whale that was killed?”
Findings:  If the trial court resolves factual disputes, it will make Findings of Fact.  List them under this heading.  E.g., “The whale that was killed was Moby Fred.”
Legal Issues:  Because these are trial court cases, the court is not ruling on errors of another court.  Thus, the issue will likely lack a procedural component related to this type of error.  Instead will focus on the legal result given a certain set of facts.  E.g., “Does a whaler get legal possession of a whale where it kills a sleeping whale when another whaler, in an attempt to subdue the whale, read it long 19th century novels until it fell asleep?”  Note there may be more than one issue in a particular case.  If so, list the holding and rationale related to the each issue before moving on to the next issue.
Holdings:  Again, because these are trial court proceedings, the holdings will not contain instructions to a lower court, but will indicate who is entitled to judgment.  “A whaler who subdues a whale by putting it to sleep by reading, playing music, or other soothing stimuli is entitled to possession as against a whaler who kills the whale while it is in its artificially induced sleep, and thus plaintiff who subdued the whale in question is entitled to recover the value of the whale from the defendant, who killed it while still asleep.”
Rationales:  List under this heading any rationales related to doctrine, precedent, or policy that you believe helped the court reach its holding.

Result:  List the ultimate result of the court’s decision, e.g., “Judgment for libellant for damages.”  Or “Judgment for respondent.”
(E) Mullett and Manning Briefs:  Comments and Models
(1) Citation

a.  Be careful copying the citation and other information into your brief.  A few of you misstated the numbers in the citation and many of the Mullett briefs spelled the name of the case with only one “t.”  I suspect the latter problem occurred because your spell-check told you that “Mullett” should be “Mullet.” Be careful not to use spell-check on proper names; it will tell you, for example, that Rumsfeld should be “rusted,” Depoorter should be “deported,” and Palin should be “plain.”  

(2) Statement of the Case

a.  Remember to identify the parties by name.  It helps you keep track of what’s happening in the case and helps me to see if you’re reading carefully.  However, we normally don’t include first names unless the case refers to more than one person with the same last name. 

b.  When identifying the parties by role, try to give enough information so the nature of the dispute is clear.  For example, in both briefs, you should note that the animal escaped so you make clear that the case doesn’t involve theft or bird-napping. On the other hand, some information, such as Mullett being in the sea lion business, is probably not central enough to the case to warrant inclusion here.

c.  Describe parties accurately.  Neither Manning nor Bradley found the escaped animals; both got the animals from the finder. Similarly, do not describe a sea lion as a “seal.”  Also, while there is no dispute that Mitcherson and Mullett originally owned the animals, whether Manning or Bradley is the current “owner” (as opposed to “possessor”) is still at issue in the case.   

d.  Include the name of the cause of action where it is available as in Mullett. A number of you referred to this cause of action as “alleged conversion,” presumably directly quoting from the first paragraph of the case.  You never have to say “alleged” with regard to the cause of action.  At the time the case is filed, it always consists of nothing but allegations.  Don’t automatically copy out words the case uses.  

e.  Although it is a good idea to try to guess what the cause of action might be in a case like Manning where it is not made clear, be careful. You may have said she brought an action for “conversion,” but that is an action for damages.  She sought return of the bird, so she might have been suing for “replevin,” an action for return of property wrongfully taken by another.  Saying she “sued out a possessory warrant” is certainly sufficient under the circumstances.

f.  Samples from these cases:

Mullett, original owner of an escaped sea lion, sued Bradley, who purchased it from its finder, for damages on a conversion theory.

Mitcherson, original owner of escaped canary, sued Manning, who was given the bird by its finder, under a possessory warrant  for return of the bird.

(3) Procedural Posture

a. Although many of you did a good job trimming this section of the brief to make it concise, you should note in both cases that there was a trial.  You should know this from  the language in both cases referring to evidence that the parties presented.  Including this detail clarifies that the appellate court is looking at a trial record and not merely at pleadings (as in Pierson). 

b.  The name of the court whose opinion you are briefing should be discernable from the citation (e.g., a cite to the Georgia Reporter with no qualification means the case is in the Georgia Supreme Court).  Thus, you can merely say that the plaintiff or defendant “appealed” the decision without indicating to whom it was appealed.

c.  Samples from these cases:

After a trial, the trial judge dismissed the complaint on the merits.  The plaintiff appealed.

After a trial, the magistrate awarded possession to the original owner.  Defendant brought a writ of certiorari to Superior Court, which affirmed by dismissing the writ.  Defendant “excepted.”

(4) Facts

a.  Include only facts that seem to matter to the court’s discussion. Describing a case like Mullett, which has a very specific focus, you can exclude more facts than in a case like Manning, in which the precise grounds for the decision are unclear.  In Mullett, for example, the history and markings of this particular sea lion don’t seem relevant to the decision, but the history and markings may be important in Manning.  Specific names, es, and place names are rarely relevant. Dates can be replaced by statements indicating how much time has passed if this information is relevant.  (See Manning example below). On the other hand, many of you failed to include in your Mullett briefs that the sea lion was found 70 miles and about two weeks from its point of escape.  These facts are relevant because the court uses them in its evaluation of animus revertendi.

b.  Remember that you can treat as “facts” anything that the court whose opinion your briefing must take as given.  In  Manning, the court has accepted plaintiff’s version of evidence as true for purposes of the appeal.  Thus, you can treat this version as “fact.”  Do not include facts the court must ignore, like Manning’s account of whose canary it is.

c.  Remember to include facts that are not in the “fact section” of the case.  For example, a very important fact in Mullett – that sea lions are not found in the Atlantic – only appears in the analysis section of the opinion. 

d.  Presenting the facts chronologically (whether the court does or not) will help your reader. Thus, before you talk about Mullett’s discovery that Bradley had the sea lion, explain to the reader how Bradley got it.

e.  Be careful to distinguish between facts and legal conclusions.  That the sea lion falls into the legal category “animals ferae naturae” is not a “fact,” but a decision of the court.  This is more apparent in Albers, where the court explicitly discusses whether the fox falls into that category or the category “domestic animal.”

f.  Samples for these cases:

Sea lions are native to the Pacific Ocean and are not found in the Atlantic.  Plaintiff placed a sea lion he owned on an island in the Atlantic from which it escaped.  Plaintiff made no effort to recapture it.  A fisherman found it in the Atlantic two weeks later, more than 70 miles from the island, and then sold it to the defendant.  A year later, plaintiff recognized the sea lion and demanded its return.  Defendant refused.

Plaintiff owned a canary that was trained so that it would answer to its name. She divided the bird’s crest in a distinctive way.  After she had owned it for two years, it escaped. It had escaped once before and returned on its own.  This time, a third party found it five days after it escaped and gave it to defendant. The next day, plaintiff demanded the bird from the defendant, who refused to return it.

(5) Issue/Holding

a.  For purposes of your briefing for this class, it is probably useful for you to draft relatively narrow versions of the issue that include a number of the facts in the case.  This will help you to focus on what facts the court considers relevant and help you in formulating the holding.  It is also useful for you to include the procedural parts of the issue to help you identify what step the appellant thinks the lower court did wrong.

b.  Try to focus your version of the substantive parts of the issue and holding on the points that were contested in the appellate court. Be careful about confusing uncontested doctrinal rationales with the substantive issue/holding

(i)   In Mullett, the court’s description of the “sole question” in the case is much broader than what was actually in dispute.  As the subsequent paragraph notes, the plaintiff conceded that he’d lose rights in the sea lion if it returned to its former freedom.  The contested question was whether the Atlantic Ocean, not the natural habitat of the sea lion, could be considered “former freedom” or “natural liberty.” 

(ii)  In the Georgia Supreme Court, Manning no longer contested that the canary at issue originally belonged to Mitcherson.  Thus, his claim must have been that she lost her rights to it when it escaped.  The language of the last paragraph in the opinion should have clued you in that the defendant was claiming that she lost property when the bird escaped.   

c.  At this stage of your training, you should try to formulate both broader and narrower versions of the holdings. Narrower versions generally include more specific terms and more of the facts of the underlying case and thus would control fewer other cases.  Broader version contain more general terms and fewer facts and thus would control more cases.

d.  Read the case carefully when formulating broad holdings.  Although there are many possibilities, some versions are too broad for the case to support.  Nothing in Manning would contradict a rule that said every escaped animal should be returned to its owner.  However, the language in Mullett is inconsistent with a rule that every escaped animal goes to the finder. Those of you who tried this very broad holding went too far: under the rules cited in Mullett, animals that do not regain natural liberty or that have animus revertendi do not go to the finder.  

e.
Sample Issues and Holdings:

Did the trial court err in dismissing plaintiff’s case because the owner of a sea lion retains property rights in the animal when it escapes into the Atlantic with no intent to return, because the Atlantic is not its natural habitat?

No, the trial court did not err in dismissing plaintiff’s case because the owner of a sea lion does not retain property rights in the animal when it escapes into the Atlantic with no intent to return, even though the Atlantic is not its natural habitat.

No, the trial court did not err in dismissing plaintiff’s case because the owner of an  animal ferae naturae does not retain property rights in the animal if, with no intent to return, the animal escapes to a place where it is free of all artificial restraint and can provide for itself.

Did the magistrate err in awarding possession of the canary to the original owner, because the original owner retained no property right in the escaped canary even though she had owned it for two years prior to escape, trained to recognize its name and combed its crest in a distinctive manner, it had escaped once before and returned in a day or two, it was found five days after escape, and she discovered its whereabouts a day after that? 

No, the magistrate did not err in awarding possession of the canary to the original owner, because the original owner did retain property rights in the escaped canary that she had owned for two years prior to escape, trained to recognize its name and combed its crest in a distinctive manner, that had escaped once before and returned in a day or two, that was found five days after escape, and whose whereabouts she discovered a day after that. 

(6) Rationales

a.  Doctrinal Rationales include any doctrine the court relies on to reach its holding, brief citations to the relevant authorities, and the logic tying the doctrine to the holding.  This is a lot easier in a case like Mullett that makes its logic explicit. Samples for these cases:

The original owner of an animal ferae naturae loses property if the animal escapes and regains its “natural liberty” unless it has “animus revertendi.”  Blackstone.  Kent.  “Animus revertendi” means a “usual custom of returning.”  Blackstone.  Here, the evidence showed that the animal broke away as soon as it could, traveled a considerable distance, and failed to returnin two weeks, thus  displaying no intent or custom to return.  The court defined “natural liberty” to mean when the animal can “provide for itself, in the broadest sense which the phrase may be used” or when it “is free to follow the bent of its natural inclinations.”  It then said that this was true for the sea lion in the Atlantic, even though sea lions are not native to that ocean.  Because the sea lion had no animus revertendi and had returned to its natural liberty, the original owner lost property rights.

To have property in animals ferae naturae, “one must have them within his actual possession, custody or control, and this he may do by taming, domesticating, or confining them.”  The court appeared to have found this test met here, presumably by all three methods, so that the plaintiff had a property right in the bird.  The court then indicated that it did not believe that this right would be lost here by escape.

b.  Policy Rationales include stated or unstated policy reasons that support the court’s decision.  Neither case makes very clear the reasons behind its decisions, so the best you can do is to try to suggest possible policies that the court might have considered.  Samples for these cases:

The court may believe that the point of the natural liberty rule is to protect finders who have no reason to know that a wild animal in the wild did not simply grow there and who thus would have no reason to expect or look for a prior owner.  As between the innocent finder and the negligent owner, we give property to the finder.  In this case, the court may have believed that the average finder of a sea lion swimming in the Atlantic is unlikely to know that it isn’t native, and so the policy behind the natural liberty rule applies here.

The court stated that it would be unjust to allow the finder to keep a pet bird that escaped to the street.  It compared the case to an escaped organ grinder’s monkey and to wild animals escaping from a menagerie.  These analogies suggest that it might be trying to protect the original owner’s investment in training and purchasing the animal or that it might believe that the finders of all these animals ought to know that they have a prior owner, and so should return them.

c.  Be careful when using direct quotes in your rationales.  Many of you simply copied chunks of the case into your brief without any accompanying explanation.  Many of you included multiple versions of the same rule.  Trying to state the court’s reasoning in your own words is a good way to see if you really understand it.  If you do use phrases or sentences taken directly from the case, indicate this using quote marks.
(7) Result
a.  The result in both these cases is simply, “Affirmed.”
(F) Review Problem I:  Comments 

& Best Student Answers from Prior Classes

Students in some prior classes had to do Review Problem #1 as a team written assignment.  This section of the information memo contains my comments on their written submissions and some of the best examples of their work.  

The problem requires you to formulate a structured series of arguments about a hypothetical that is similar to an exam question. These arguments would all be useful responses on an actual exam.  Indeed, if you strung together one of the model answers from each question, you’d have a superb exam answer (although written in a more formal style than you would use on an exam).  Thus, the following points may help you think about how to respond to exam questions.  
(A)  GENERAL COMMENTS

1.  The Golden Rule:  Read Carefully

a) Follow directions. Make sure your arguments are within the parameters of the question I ask. If I ask you to apply particular language from Shaw to the hypothetical, confine your response to that language.  Do not refer to other passages in Shaw unless you do so to explain the passage you are applying.  For example, many of you discussed whether “escape” was “impossible,” but didn’t explain how that illuminated the relevant question of “control.”  Similarly, when I ask you to apply the policy favoring useful labor, don’t talk about power and control or the finder’s knowledge unless you explain why these concepts are related to labor.

b) Use the facts that I give you.  Some of you made arguments based on “facts” that don’t appear in the fact pattern.  For example, some of you said Niles did more work or checked the traps more often than Frazier did. Description in hypo is consistent with a situation where F checks every 4 days and N regularly checks traps two days after F does (identical work) or even where N checks every two weeks (much less).  In addition, many of you got tangled up counting weasels.  The hypo says half of the ones that fall in, get out before F checks the traps.  That doesn’t mean half of those that are uninjured get out or that half of those that fall in are injured.
2.  Structuring Arguments

a) Begin your arguments with references to the type of precedent the question asks you to use.  If you are supposed to be comparing your facts to those in Shaw, start with facts.  If I ask you about a policy argument, begin with the policy argument.  Providing other information is at best taking up more time and space than you need to and may indicate that you are missing the point of the question. 

b) Don’t simply announce conclusions.  When applying a test or a policy to facts, it is not enough to simply announce the result:  E.g., “Here, F didn’t have sufficient control of the weasels to get property in them” or “The facts of the hypo are too different for Shaw to apply” or “N’s labor was obviously more useful than F’s”  Instead, explain your position with specific reference to the facts of the hypo.   

c) Keep focused on the relevant legal standard.  If you begin an argument talking about power and control, make sure everything you say is related to power and control.  If you are discussing labor, don’t slide into makings or back to power and control.  Make sure that the connections between each point and the subject of the argument are clear.

d) Complete your argument with a short conclusion incorporating the precise words of the test/rule/policy you began with.   This conclusion should clarify the significance of the argument for the reader.  The repetition of phrases emphasizes that you are arguing that your facts meet the test you laid out at the start.  For this assignment, you also should have tried to clarify how the argument connected to the ultimate question:  Did N commit larceny?  Finally, your conclusion is much more persuasive after you have laid out all of the steps in the argument, so don’t include it at the beginning (or middle) of the paragraph. Although in a longer document like a memo or brief, you often put your overall conclusion at the start, you usually do not do so for individual arguments you make along the way.  

3.  Making Arguments Persuasive

a) Explain why similarities and differences matter.  A good lawyer can find ways in which any two things are similar and ways in which they’re different.   What differentiates a legal argument from merely identifying similarities/differences is a (brief) explanation of why a court should find the similarities/differences important to the legal issue at hand.  Thus, “In Shaw, almost all the fish that swam into the net remained there.  Here, half the weasels that fell into the trap escaped, leaving many traps empty.  Because Shaw explicitly relied on escape from the nets being nearly impossible and relied on the net-owner’s certainty of finding fish in the net, the weasels’ regular escapes from F’s traps suggest that the Shaw court would view the cases differently because F cannot rely on there being a weasel in any particular trap.”

b) Don’t Overstate Your Case.  Hyperbole may be an effective technique in other contexts, but it can hurt you if you employ it in legal arguments.  You often are trying to persuade your reader of something.  A reader who catches you exaggerating may stop believing anything you say.  Here, statements like “F’s traps were completely useless” undercut your credibility.  F’s traps catch many weasels.  Get into the habit of being accurate and precise:  “F’s traps probably could have been constructed so that fewer weasels escaped, thus increasing their usefulness.” 
c) Acknowledge and Address Weaknesses in Your Position:  Even if everything you say in your arguments is accurate, you still can sacrifice credibility if you fail to mention obvious weaknesses.  Identifying these weaknesses and explaining why they aren’t fatal greatly strengthens your argument.  For example, in Arguments #1 and #3, you need to deal with the fact that half the weasels escape; in arguments #2 and #4, you need to deal with the fact that half of them don’t escape.  #5 needs to acknowledge that F’s labor could be more effective; #6 needs to acknowledge that F’s labor is somewhat useful even without N’s intervention. 
(B) SPECIFIC ARGUMENTS:   COMMENTS AND MODELS
General Information on Student Answers 

In most cases, I choose student answers to use as models from among several good submissions.  I try to pick answers that have different strengths and that illustrate particular arguments I like.  Thus, they are not necessarily the “best” arguments.  I have edited some of them lightly for inclusion in this memo, and have put in footnotes some of the comments I made directly to the authors.

Arguments 1-2 (Use Of Passage From Shaw)

1.  Formulate an argument that Niles’s actions should be considered larceny relying on the following passage from Shaw:

To acquire a property right in animals ferae naturae, the pursuer must bring them into his power and control, and so maintain his control as to show that he does not intend to abandon them again to the world at large. 

2.  Formulate an argument that Niles’s actions should not be considered larceny relying on the same passage.

The Substance of the Test: The test has two requirements, which you needed to address separately: (1) bringing the animal under control and (2) maintaining control.  When you argued for F, you needed to argue that he did both.  When you argued for N, you would succeed if F failed at either.  Most of you recognized that N’s stronger argument was that F failed to maintain control.  

The second prong of the test is focused on maintaining control, although it mentions intent. Thus F has to prove that he maintained control in a way that is consistent with intent not to abandon the animals. He doesn’t have to show intent directly, nor would good intent be enough if he didn’t have control. E.g., Post had no intent to abandon, but probably didn’t have control.

Applying the Test:   You need to be explicit about why the facts meet (or do not meet) the test.  Simply listing the facts and giving the result in insufficient.  Regular use of the word “because” is a good idea.  For example, you need to be explicit as to why “escape is difficult” = “power and control” and why checking the traps every four or five days = “maintaining control.”  

Argument #1: Good Student Answer [This answer deals with the two parts of the test separately, uses the facts well, and uses the holding in Shaw nicely to explain the meaning of both prongs of the test]  The court in Shaw held that the pursuer of an animal ferae naturae must bring the animal under his power and control and maintain that control to such an extent as to demonstrate that he does not intend to allow the animal to regain its natural freedom.
  Frazier constructed his traps in a manner that allowed only 50% of the weasels that fall into them to free themselves.  The half that remain in the traps are those that are taken by Niles.
  However, according to the reasoning of the Shaw court, an animal ferae naturae whose liberty is circumscribed by the constraints of a hunter’s trap is, in effect, under that hunter’s power and control.
  The animal continues to be under his power and control until claimed and disposed of by the owner of the trap (or, in the case of Shaw, the net). In addition, by building traps in the ground of a depth that the 50% who are able to regain their freedom must dig for two days in order to do so, Frazier has clearly constructed traps which indicate his unwillingness to allow the animals to escape.
  Though some do escape, the Shaw court held that the law does not require absolute security of escape. Therefore, Niles’s interference and acquisition of the weasels is a larceny according to the definition laid out in Shaw.

Argument #2: Good Student Answer: [This is a very nicely structured argument. It begins with the relevant test, sees that the test has two parts and applies them separately, uses facts well, and ties the argument back to larceny at the end. It also contains an especially good argument on power and control.]  “To acquire property rights in animals ferae naturae, the pursuer must bring them into his power and control, and so maintain his control as to show that he does not intend to abandon them again to the world at large.”  Shaw.  Frazier had dug holes in the ground to trap weasels, wild in nature, and from which escape was very probable.
  The traps were merely holes dug on public property, in which eggs were placed and the top covered by twigs.  It was established that a significant number of weasels caught in the traps were capable of digging themselves out of them.  Given this capability of weasels to dig through the ground, absent any other characteristic of the traps to control them, the traps failed to provide Frazier with the power and control over their escape.   Frazier’s trap had not in any material manner removed the weasels from their natural habitat
, i.e. they were still in the ground and with sufficient flexibility of movement.  The element of the rule involving maintenance of control by Frazier also presents a problem by his failure to check and reset the traps within a period reasonable to prevent escape.
  Frazier left the traps unattended for four to five days, allowing sufficient time for many of them to escape, so he hasn’t shown lack of intent to abandon in light of the wild and burrowing nature of the animals he sought to trap. Because the traps, due to their inefficiencies, failed to establish the necessary elements of power and control, Frazier could not establish property rights under the rule.  Niles should not therefore be charged with larceny.

Arguments 3-4 (Comparison to Facts of Shaw)

3.  Formulate an argument that the facts in the hypothetical are sufficiently like the facts in Shaw that Niles’s actions should be considered larceny.

4.  Formulate an argument that the facts in the hypothetical are sufficiently different from the facts in Shaw that Niles’s actions should not be considered larceny.

Structure: These questions asked you to compare the facts in Shaw to those in your problem.  That suggests beginning with the relevant facts from Shaw, describing whether they also are present in your case, explaining why the facts you’ve chosen are important, and concluding that the cases should/shouldn’t be treated alike. Useful forms for these arguments might look like:

In Shaw, the court held that the owners of a net had property rights in fish caught in the net where [fact A, fact B, and fact C].  Our problem also contains [fact A, fact B, and fact C].  These facts are significant to the outcome because ….  Thus, because our case contains facts similar to those that were important to the outcome in Shaw, the cases should be treated the same way.

In Shaw, the court held that the owners of a net had property rights in fish caught in the net where [fact E and fact F].  By contrast, our problem does not contains [fact E and fact F].  [Fact E and Fact F ] are significant to the outcome because ….  Thus, because our case contains does not contain facts that were important to the outcome in Shaw, the cases should be treated differently.

Argument #3: Good Student Answer: [This is a very nice argument. It contains a good sequence of useful parallels, especially the points about physical proximity and the effectiveness of the traps. It also provides a good sense of why these similarities matter legally.] Both the net owners in Shaw and Frazier constructed traps that were set up in such a way that the hunter did not need to be in physical proximity to them in order to guarantee their effectiveness.  However, both sets of hunters were the victims of interlopers who removed the wild animals from the traps before the owners of the traps had a chance to claim their prey. Like the nets in Shaw, Frazier’s traps were effective to the extent that the respective owners of each were nearly certain to have at least half of the animals that initially fell prey to the traps still confined when the owners of the traps came to claim them.
  The court in Shaw determined that the net owners had property rights in the fish because their nets both captured and confined the fish despite the possibility of escape.  Frazier’s traps are very similar in that they confine a substantial number of the weasels that enter them and, in their captivity, subject them to his control.  Therefore, Niles’ taking of the weasels is a larceny.

Argument #4: Good Student Answer: [This is a very nice argument. It makes a good choice as to the difference it discusses and offers a very good explanation of why it matters.  It uses quotes from Shaw well, especially the one at the end tying the argument back to larceny.]  The court in Shaw, while rejecting the lower court’s perfect net rule, nevertheless implied that nets must be of sufficiently adequate construction that relatively few fish are able to escape from them:  “[The fish] were confined in nets, from which it was not absolutely impossible for them to escape, yet it was practically so impossible; for it seems that under ordinary circumstances few, if any of the fish escape.”  The primary difference between the nets in Shaw and Frazier’s traps is their quality.  In Shaw, the very few fish that actually escaped did so primarily after the nets were disturbed by the weather or other outside forces.  In contrast, Frazier’s traps do not have a similar escape rate.  On average, 50% of those weasels that fell into the traps dug themselves out in 2 days without the influence of outside forces.  Given that this is the case, Niles is not guilty of committing larceny as the weasels he takes from Frazier’s traps are not “so impressed with (Frazier’s) proprietorship” (Shaw) due to the high probability that they will escape.

Arguments 5-6  (Use Of Labor Policy) 

5.  Formulate an argument that the application of the policy of rewarding useful labor to the hypothetical supports considering Niles’s actions to be larceny.

6.  Formulate an argument that the application of the policy of rewarding useful labor to the hypothetical supports considering Niles’s actions not to be larceny.

Structure: These questions asked you to use the policy of rewarding useful labor to help determine who should get property rights in your problem. Normally, you begin an argument like this by identifying the relevant policy and providing authority for the proposition that the courts or legislature consider it significant.  You then might explain why it would be of particular relevance to the case before you (here, the state’s interest in eliminating weasels).  You then should detail the labor undertaken by the party in question (F) and explain why it does or doesn’t further the policy.  You might do this by comparing F’s labor to the labor performed in Shaw, to labor performed by N, or to labor F might have performed instead or in addition to what he actually did.  You then  conclude by summing up what the policy suggests about the proper outcome of the case.  

Argument #5: Good Student Answer: [This argument contains some very nice points, including that N’s labor depends on F’s labor and the deterrence argument.  It usefully begins with statement of policy,  details F’s labor well, and does a good job tying back to ownership and larceny.] It is in society’s best interest to reward useful labor. Frazier expended a great deal of energy in putting together a network of traps to catch and to contain weasels.  He dug sufficiently deep holes, placed an egg at the bottom of each as a cunning way to attract the weasels, and covered the tops of the holes with sticks to trick the weasels.  He took the time to go to all the traps to get the weasels out.  The traps were useful because the weasels were a menace to farmers in the area.  

Niles did not labor to trap the weasels,
 but benefited from the Frazier’s labor by receiving ten dollars for each weasel. Society should not allow Niles the benefits of someone else’s labor at the cost of the laborer’s hard work.  The laborer will not want to labor if he is not gaining the rewards and if someone else is allowed to gain the rewards.  It is not efficient to allow Frazier to go without his rewards because society will suffer when he quits building traps and the weasels continue being a menace to farmers.  Therefore, Frazier’s useful labor should yield ownership of the trapped weasels and Niles’s actions should be considered larceny.

Argument #6: Good Student Answer: [This argument is wordy in places, but has a lot of strong points, including focusing on F’s labor not being useful, detailing other labor F might have performed, comparing F’s labor to N’s and explaining why N’s actions are useful. It makes a very nice point addressing an important weakness in its position. Finally, it has a nice conclusion tying the argument back to larceny.] If one was to focus on the policy of rewarding useful labor, Niles should be lauded rather than charged.  While Frazier’s intent was useful, his labor preparing the traps and monitoring their captures was not.  Frazier used his resources to build traps that only end up having a 50% success rate.  Frazier should have put in more effort to dig traps that were five to six feet deep and then had covers on top of them that, once sprung by a weasel, could only be opened by human means.  Absent these structural changes, Frazier should have kept a more timely schedule of monitoring the traps to insure that the weasels that were captured were turned in to the state game warden.
  Ultimately, Frazier’s traps proved inefficient when combined with his lack of supervision.

On the other hand, Niles’s labor was useful.  By taking and turning in weasels that could have escaped and caused harm to area farmers if left for Frazier to find them many days later, Niles does society a service.  One might argue that if it wasn’t for Frazier’s labor in constructing the traps, no weasels would be caught.  However, it would be useless labor for Niles to prepare additional traps when there are already a significant number of traps laid in the forest that are being rendered useless by Frazier’s lack of monitoring effort.
  The bounty Niles receives for turning in the fallen animals is just reward for his useful labor.  His actions are a lot closer to useful labor than Frazier’s
 and should therefore not be considered larceny.

Argument 7 (Choosing the Stronger Position)

7.  Briefly discuss which arguments you think are stronger (and why):  those you’ve made for Frazier (Subjects 1, 3, 5) or those you’ve made for Niles (Subjects 2, 4, 6).  This response need not follow the form for legal arguments described above.  If your team disagrees on this issue, briefly describe the different positions team members have taken.

Structure: When you conclude a discussion in a memo or on an exam by arguing that one side’s position is stronger than the other’s, you will not simply repeat earlier arguments, but will add additional points that have not already been made.  These points might include reasons one side’s arguments are more likely to be accepted by a court, a policy reason to prefer one side’s arguments, references to precedent that suggests arguments on one side are better, etc.  Ideally, your discussion explicitly should address the best arguments for the side you think should lose.  Finally, even if you are expressing your own opinion, you need not preface each point with “I believe” or “we think….” Just make your arguments.

Scorecard:  From the 2001 class: 16 1/3 teams thought Frazier had the better arguments, 23 2/3 teams thought Niles had the better arguments, and three teams were unsure.  In 2000, in a much smaller class, 17 students favored Frazier, 14 students favored Niles, and 3 students were unsure. This suggests that I met my goal for designing the problem, which was to have the two positions be roughly equal in strength.

Argument #7: Student Answer #1: [This is a very nice answer. It appropriately uses very smart arguments comparing the benefits of rules to the benefits of general policies (although you should know that there are counter-arguments). It also uses Demsetz well. It would be helpful to defend more that F’s arguments are based on rules and N’s on policy considerations.]. Although arguments for Niles favoring successful and efficient labor and performing a public service are persuasive, these arguments are based on policy or standards, which are more subjective than rules and could be construed as facilitating unfair or harmful activities such as poaching or overhunting.  Frazier’s arguments are stronger because they are based on rules from cases that have factual similarities and serve to protect property rights which according to Demsetz, serve as “an instrument of society and derive their significance from the fact that they help a man form expectations in his dealings with others.”  Rules establishing and protecting property rights facilitate predictability, which allows planning and serves to limit unnecessary and inefficient litigation.

Argument #7: Student Answer #2: [This argument contains several good points that it hadn’t raised elsewhere in the assignment. I particularly liked the references to public order and to the “technical rule.”] The arguments made for Frazier are stronger because of the policies favoring economic efficiency, order and useful labor.  Deeming Niles’s actions to be lawful would be detrimental to the State’s goal of achieving economic efficiency.  If Frazier had no right to property as a result of his useful efforts of labor, he would likely stop building traps because it would be a waste of his time.  Or he might fight Niles (and anyone else) for what he deems to be his own.  This would cause chaos.  As a result, it is more likely that fewer weasels would be killed, more chickens and eggs would be destroyed, and economic efficiency would not prevail.

Although the counter-arguments of 2, 4, and 6 are persuasive, they do little to support the theory of economic efficiency and the policy of rewarding useful labor.  Rather, those arguments imply enforcement of a very restrictive and technical rule that would necessarily define what a “good enough” trap is.
  Further, the definition of “useful labor” would become perverted.  In other words, my “useful labor” may very well mean that I do not in fact have to labor any more than taking what is easily and readily available, disregarding any notion of unfairness.

Argument #7: Student Answer #3:  [This was the best pro-Niles argument in 2000.  I liked that it dealt with each pair of arguments separately.  It also raised some clever points that were new in #7, including the idea of hiring somebody else to check the traps which I don’t think anyone else mentioned. It could be improved by dealing more explicitly with some of F’s best arguments.] The arguments in favor of Niles are stronger, even though what Niles was doing could be interpreted as stealing by people without  first-hand knowledge of the law protecting property rights in animals.  For example, Niles has a very strong argument in #2 based on Frazier’s failure to demonstrate a strong enough desire to prevent the escape of the weasels from his power and control.  If Frazier was genuinely concerned that the weasels may escape to the world at large, he could have either made time to check the traps more often, or made arrangements for someone else to do so.  

The argument in #4 is significant because Frazier was aware that the weasels were able to escape from his traps within two days of being captured, yet he took no action to prevent the occurrence of their escape.  It seems that Frazier was satisfied only to take the weasels that may have remained in the traps after four or five days.  If retaining ownership in all of the trapped weasels was a priority to Frazier, he would have made sure that he or someone else would retrieve the weasels every 24 to 48 hours, so as to prevent their escape.
  

Finally, in #6, which addresses rewarding useful labor, because Frazier did not maintain the traps in a reasonable manner so as to prevent the escape of the weasels, his labor in making the traps was really not as effective and useful as it should have been.  Niles, however, made a more efficient and productive use of the traps, by checking them on a more regular basis, which ensured that many less weasels escaped.  Niles’s taking of the weasels, not only benefited himself, but benefited Frazier as well, because the capture of the weasels resulted in a decrease in the loss of chickens and eggs on both their farms.  Niles’s actions made a contribution to the greater good of the State of Ohio and its farming community.
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� Probably should quote test directly.  This version slightly different in that it refers to “natural freedom,” a concept found in Pierson and escape cases, but not in Shaw.  


� Careful to get facts right.  Some of those taken by N will be weasels that would have escaped between the time N took them and the time F would have gone to reset the traps.


� This is a very good argument that could be made a bit better by clarifying that Shaw held that the net-owners had met the test you are applying. 


� The discussion of the second prong of the test needs to more clearly focus on maintaining control, rather than intent.


� Might make connection to larceny more explicit (F does have property in weasels, so taking them = larceny)


� “Escape was very probable” overstates a bit (50%) and also seems to be applying Liesner test rather than the one you are working with here.


� Might clarify what “natural habitat” has to do with “control.” 


�  This is a very nice point.


� This is a terrific way to characterize what happened in Shaw to highlight the similarities. It creates a plausible standard that encompasses both Shaw and the hypo.    


� The author here could defend more that N didn’t labor.  He did go trap to trap and captured and removed weasels.


� Good suggesting alternatives, but these are not the only possibilities.  In fact, the traps as built are fine if he checks them every two days.


� Careful about the double use of the word “useless.”  N’s labor building traps is unlikely to be completely useless; they’d catch something.  However, it might be “wasteful” or “unnecessary” labor.  F’s traps aren’t “useless” either; they do catch half the weasels that fall in them.


� Might say that N’s labor is “more useful” rather than “a lot closer to useful.” The latter suggests that neither man’s labor is useful.


� This argument could be elaborated more.  However, its basic point is very smart:  finding for Niles will require future courts to do difficult technical measurements as to the success rate of traps.


� Although I think this is a solid point, it does seem to be inconsistent with the holding of Pierson. This highlights the ways in which Pierson and Shaw are different. 


� This argument looks a lot like the one in the prior paragraph.  The authors should have clarified why it relates to facts of Shaw (as opposed to the power and control test).
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